
[bookmark: _GoBack]Table S1. MARS models describing the relationship between each method of calculating available storage (Avail. Stor; x) and Retention (y).  Models are fitted to include all substrates and vegetation cover types. MARS model equations can be interpreted as applying slope coefficients over a specific range of x-values as defined by the outcome of the ‘max’ statements to create a ‘broken-stick’ function. Available storage was calculated using three methods: Avail. Storin situ, Avail. StorPAW and Avail. StorWHC.  Adjusted R2 (R2adj) and P-value refer to the fit of the modelled values against observed values. The 95% prediction interval for each model is presented and was estimated as two times the residual standard error.  

	Method for calculating Avail. Stor
	Event
size
(mm)
	Model equation
	R2adj
	P-value
	Prediction interval (mm)

	Avail. Storin situ
	3.70
	y = 2.53 – 0.159 * max(0, 3.0 – x) – 0.001 * max(0, x – 3.0)
	0.74
	<0.001
	0.97

	
	14.39
	y = 10.31 + 0.610 * max(0, 15.8 – x)
	0.97
	<0.001
	1.44

	
	20.82
	y = 13.92 – 0.703 * max(0, 19.5 – x) + 0.221 * max(0, x – 19.5)
	0.89
	<0.001
	3.34

	
	39.71
	y = 14.73 – 0.999 * max(0, 16.8 – x) + 0.641 * max(0, x – 16.8)
	0.96
	<0.001
	2.37

	
	
	
	
	
	

	Avail. StorPAW
	3.70
	y = 2.26 – 0.088 * max(0, 9.8 – x)
	0.18
	<0.001
	1.81

	
	14.39
	y = 1.24 + 0.785 * max(0, x – 13.7) – 0.721 * max(0, x – 23.8)
	0.81
	<0.001
	3.55

	
	20.82
	y = 3.08 + 0.785 * max(0, x – 17.3) – 0.545 * max(0, x – 29.7)
	0.70
	<0.001
	5.54

	
	39.71
	y = 15.14 – 0.386 * max(0, 31.5 – x) + 0.731 * max(0, 31.5 – x)
	0.76
	<0.001
	5.89

	
	
	
	
	
	

	Avail. StorWHC
	3.70
	y = 2.42 – 0.062 * max(0, 21.4 – x)
	0.29
	<0.001
	1.68

	
	14.39
	y = 1.58 + 0.752 * max(0, x – 18.8) – 0.757 * max(0, x – 32.6)
	0.93
	<0.001
	2.12

	
	20.82
	y = 2.77 + 0.774 * max(0, x – 22.0) – 0.677 * max(0, x – 37.7)
	0.83
	<0.001
	4.15

	
	39.71
	y = 16.14 – 0.575 * max(0, 37.7 – x) + 0.743 * max(0, x – 37.7)
	0.86
	<0.001
	4.44



